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Question Number : 52 Question Id : 40503611882 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

If « and P are the roots of the equation,

7x*—3x—-2=0, then the

0 | B
1-o2 1-p2 is equal to :
Options :
1
40503642990, 2%
.
40503642991, 16
3
40503642992, B
27
32
40503642993, °=

Question Number : 52 Question Id : 40503611882 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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40503642990, 22
27
40503642991, 10
3
40503642992, ©
27
32
40503642993, ~=
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Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Ifa+x=b+y=c+z+1, wherea, b, ¢, x,
¥, z are non-zero distinct real numbers,

x aty =x+ta

then |V PT¥ ytb

z c+y zZ+c

is equal to :

Options :
40503642994, (P —2)

40503642995, ¥(@—b)

40503642996, U

40503642997, Y@ 79
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T2 a+ r=b+y=c+z+1 %’ T:Tﬁa,b,c, x,
y, z AT 9= arafas = €, 9@
lx ad y x+ta

y bty ¥b ey

Z cH y ol ol
Options :
40503642994, Y(P—2)
40503642995, ¥(@—b)

40503642996, U

40503642997, Y279

Question Number : 54 Question Id : 40503611884 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

If the system of linear equations
x+y+3z=0

x+3y+kz=

3x+y+3z=0

has a non-zero solution (x, y, z) for some

{ U )
ke R, then x | ‘TJ is equal to :

Options :

40503642998, 3

40503642999.

40503643000. 7

40503643001.

Question Number : 54 Question Id : 40503611884 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option
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Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Afs s T fFm

x+y+3z=0

x+3y+ 22=0

3x+y+3z=0

1, T4t ke R, & folu, U# ¥ &d
(x, v, z) e I*Ii] T E

\

Options :
40503642998, 3

40503642999,

40503643000. 7

40503643001,

Question Number : 55 Question Id : 40503611885 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

There are 3 sections in a question paper
and each section contains 5 questions. A
candidate has to answer a total of
5 questions, choosing at least one question
from each section. Then the number of
ways, in which the candidate can choose
the questions, is :

Options :

40503643002, 1200
40503643003, 2000
40503643004, 2255

40503643005, 2220
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Options :

40503643002, 1200

40503643003.
40503643004. ==

40503643005, 2220

Question Number : 56 Question Id : 40503611886 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
If the sum of the second, third and fourth
terms of a positive term G.P. is 3 and the
sum of its sixth, seventh and eighth terms

is 243, then the sum of the first 50 terms of

this G.IP. is:
Options :

(3 -1)
40503643006, 26

i{qsn 1)

40503643007, 13"

i(;ﬁ“ 1]
40503643008, 13
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ji{}-l':} 1 }
40503643009, =0
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Correct Marks : 4 Wrong Marks : 1
AL T =1 92 1 ATEA 3 € A 5HE I,
TS AR ATSS TS T IRTESA 243 7, A A
TR S % q9H 50 TSI AN § ;
Options :

1

(3*-1)
40503643006, 26

1 :

i{;ﬁ{l 1]
40503643008, 13

%{34‘:} 1}
40503643009, <0

Question Number : 57 Question Id : 40503611887 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

If the sum of the first 20 terms of the series
Ingl_?ll,glﬁx | Ing{}.m}x | Ing{?m}x F.  is
460, then x is equal to :
Options :
40503643010, €~

40503643011, 7'/2

=7

40503643012, /=
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746/21
40503643013.
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Correct Marks : 4 Wrong Marks : 1

.Ingl_?ll,-: | X - Ir}g{?|ln}_1' [ Ingq:,lfq}x S
F9H 20 TE AR 460 T, T x T T :
Options :

40503643010. €

40503643011, 7'/2

S ]
[d

40503643012.

A
40503643013, 7 0%

Question Number : 58 Question Id : 40503611888 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

I{L'I: ~,l|'|1-:-_1:2 +xt -1 :|/.1.' 1 :l

lim ; =
x—0 I +x= x* -1

Options :
40503643014. does nolt exist.

40503643015, 15 equal to 1.

40503643016, 15 equal to 0.

40503643017, 15 equal to Ve.

Question Number : 58 Question Id : 40503611888 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option
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Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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G f "
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Options :

40503643014, F1 ATET T 21

40503643015, 1 F TR E

40503643016.

40503643017.

0 % FE 2|

Je FamEwd

Question Number : 59 Question Id : 40503611889 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The derivative of tan ™! {

respect to tan_I[ -

Options :

40503643018.

40503643019.

40503643020.

40503643021.
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Question Number : 59 Question Id : 40503611889 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Options :

40503643018, -

40503643019.

40503643020, U

b
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40503643021, 2

Question Number : 60 Question Id : 40503611890 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Which of the following points lies on the
S

tangent to the curve eV +2.y+1 =3 at

the point (1, 0) ?

Options :

40503643022, (2 %)

o
40503643023, (2 ©)

(22)
40503643024,
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40503643025 2, 6)

Question Number : 60 Question Id : 40503611890 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

= § 9 #F T fog 9% eV 42y +1 =3
& Taig (1, 0) T @it 2 oy9 v w e R
Options :

40503643022.

40503643023.

(2.2)
40503643024,

40503643025, 2 ©)

Question Number : 61 Question Id : 40503611891 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

If x=1 is a critical point of the function
fix)=(3x*>+ax—2—a) e, then:

Options :

)
x=T1land X = E are local minima
of f
40503643026. .
2
r=Tand x = = are local maxima
of f
40503643027. .
2
r=1isalocal maximaand x = EY
40503643008, 152 local minima of f.
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yr=1lisalocalminimaand ¥ =

| b2

is a local maximaof [,
40503643029. }

Question Number : 61 Question Id : 40503611891 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
afg x=1 e flx)=(3x2+ax—2—a) e*
&I U FHifas {93 (critical point) g,

Options :
2 - "
=1 39T x = ;,I;’ & EE
e feg 2
40503643026. ﬁﬁ; %
2 = n
r=199 x = 3 f = 9 3=9dH

40503643027, A5 €1
x=1, fF TF HE s34 fag T T

2 . s
X = - = [FUHEEE T Eg T
40503643028. 3

x=1,f I UF T fa fag g aan

2 . .
x = ;.jmﬁwmmﬁanfﬁg%l
40503643029. ~

Question Number : 62 Question Id : 40503611892 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

If j O do=Alog, [B(®)]+C

5+7smi—2 cos 6
where C is a constant of integration, then

BO) .
A Can be :

Options :
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‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘ m



2sinfl+1

40503643030, 2 (SN0 +3)

5(2sind +1)
40503643031,  sinfi+3

2sinf+1

40503643032, Sinf+3

5(sinf 1 3)
40503643033, 2sinf+1

Question Number : 62 Question Id : 40503611892 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

5+? ﬁi'ﬂ“—chEh“
. B(®
% e C wF maEen aw E A o g
Hehll 2 :
Options :
2sinf +1
40503643030, - (SN0 +3)

40503643031,  sin+3

2sinf+1

40503643032, Sinf+3

5(sinf 1 3)
40503643033, 2sind+1

Question Number : 63 Question Id : 40503611893 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The area (in sq. units) of the region

A={{x,y): (x—1)[x]=y <2.x,0 <x<2),
where [t] denotes the greatest integer
function, is:

Options :

0 |
)

B | =

40503643034. *

40503643035. °

40503643036, -

| oo
9]

b | =

40503643037.

Question Number : 63 Question Id : 40503611893 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
%ﬁﬂ ={(x,y): (x—1)[x] =y <24x,0 <x<2]
el [t] HEHH YUiE Wer §, 1 aewe (&
THEAi H) ¥
Options :
4
E;\ﬁi

40503643034.
40503643035.
40503643036.

40503643037.
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Question Number : 64 Question Id : 40503611894 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Let y=y(x) be the solution of the
differential equation

dy

: 9
cosy ——+ 2ysinxy=sm2x, .tFl 0=t
dx . -~y

If y(w/3)=0, then y(w/4) is equal to :
Options :

40503643038, 2~ V2
40503643039.

40503643040.

40503643041,

Question Number : 64 Question Id : 40503611894 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
HAL y=y(x), FTHe THE
. dy T

COSX 1—'+ 2y siny=sin2xy, x Ei 0, - ; %1 B
dx 2/

g1 A y(w/3)=0 T M y(n/4) T
e

Options :

ba

40503643038, 2~ V2

40503643039, V22

40503643040, ‘LHNZ

=-~3“|| -

40503643041, ¥
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Question Number : 65 Question Id : 40503611895 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

If the length of the chord of the circle,
x>+ =1 (r > 0) along the line, y—2x=3
is r, then r° is equal to :

Options :

9

40503643042, °

40503643043.

40503643044, 2

40503643045. ~ =

Question Number : 65 Question Id : 40503611895 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

afg g9 x2 +y2=rZ (r> 0) I, TG y—2x=3
& ey, Star i e ¢ 8, o 12 e E
Options :
9
40503643042, >
40503643043,

40503643044, 2

40503643045, 12
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Question Number : 66 Question Id : 40503611896 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
If the line y=mx + c is a common tangent
: o | Ly
X Lr"'
to the hyperbola — — =— = 1 and the
. 100 b4
circle x*+y*>=36, then which one of the
following, is true 7
Options :

40503643046, Sm+3=0

40503643047, XM =4
4.0
40503643048, 4~ =7369

40503643049, =569

Question Number : 66 Question Id : 40503611896 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

gfe W y=mx +c AR

2 Z2
f—m g—4= 1 91 99 22 +12=36 I TF
Ty o9l T B, @ e 9 e W s
e &7
Options :

40503643046, M +5=0

40503643047, P =4
4.0
40503643048, 4~ =369

40503643049, € =369
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Question Number : 67 Question Id : 40503611897 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

If for some « € R, the lines

x+1 y-2 z-1
Ly : 7:J1: ] and

L‘_&:IP.‘_];}]_:II
I = i~ / - y
2 " S 1 are coplanar,

then the line L, passes through the point :
Options :

-
40503643050. (10, -2, —2)

5
40503643051, (102, 2)

I "
40503643052, (2 —10, —2)

(-2, 10, 2)
40503643053

Question Number : 67 Question Id : 40503611897 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Wﬁlwuel{%ﬁm\,w

.'j =z
Lj:_a.l..zjg.rll= |

- v 5-u« 1 %‘ arE

L, afag e i e, 92 2

Options :
9 _n
40503643050, (10 =2, —2)
)
40503643051, (10-2,2)
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1 o —
40503643052, (& —10, —2)

(-2, 10, 2)
40503643053

Question Number : 68 Question Id : 40503611898 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

If the mean and the standard deviation ol
the data 3,5, 7, a, b are 5 and 2 respectively,
then a and b are the roots of the equation :

Options :
=z =l
40503643054, ¥ —10x+18=0
i =
40503643055, ¥ — 10x+19=0

40503643056, ¥ —20x+18=0

40503643057, =X~ —20x +19=0

Question Number : 68 Question Id : 40503611898 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

afe #ATHEl 3, 5, 7, a, b T =5 G991 HAF
foeem a9 5 @41 2 §, df a 99 b T
HHHI0 F HA %, T

Options :

'2-- = —
40503643054, ¥ —10x+18=0

2—-10x+19=0

40503643055.
40503643056, ¥ —20x+18=0
40503643057, =X~ —20x +19=0
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Question Number : 69 Question Id : 40503611899 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

If L= sin2f%5| 51112[%] and
Y K Fi

i,

af w) . 2fw)
M= cos?| — | —sinZ|{ = -
COos [ 7 ,J 5111 | HJ , then :
Options :
1 1 T
L= '?\,E [ ;CGSE
40503643058, s %
L. = L,; —cmg
40503643059, V2
M = 1_ f é“‘*‘i
40503643060. 2y2 28
M = 1F | %ma::
40503643061 a2 .

Question Number : 69 Question Id : 40503611899 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

— "
7fg L=5i112['—'| sinz['—'| GE|
\16;‘ x_Bz'

M
1! |

M = ,;n_n.;z[— Hi]‘lz(.—m:- %, fﬁ +

V16 e,
Options :
1 1 T
Fi= — + —CDS—
242 2 8
40503643058.
s L,; Icm%
40503643059, V2

gcollegedumag
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40503643060.

40503643061.

Question Number : 70 Question Id : 40503611900 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

The statement

(p—=lgq—=p))=(p—=(pvq)) is:
Options :

40503643062, 2 contradiction

a tautology

40503643063

40503643064, Squivalentto (pvg)a(~p)
squivalent to (pAq)v(~q)

40503643065, AL TAE (prq)vi~q)

Question Number : 70 Question Id : 40503611900 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

F2 (p—=(q—p))—=(p—=(pvq)) :

Options :

40503643062, 0P TTIEITeRA &1

40503643063, T € |

T o = :
40503643064, PV U~ P) T T

40503643065, P~ )V (~a) F TH €|

Sub-Section Number :
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Sub-Section Id : 405036838
Question Shuffling Allowed : Yes

Question Number : 71 Question Id : 40503611901 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

Let A={a,b,cland B={1, 2, 3,4}. Then the
number of elements in the sel
={f:A = B | 2¢ f(A) and [ is not

one-onej is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 71 Question Id : 40503611901 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

O A={a, b, ¢] T B={1, 2,3, 4} &
TTFAC={f:A'= B | 2¢f(A) HW!@?EFT
IR T e

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

51t05.002

Question Number : 72 Question Id : 40503611902 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

The coefficient of ¥} in the expansion of
(1+x+ x4 .t"ﬂ’]b in powers of x, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

gcollegedunla
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Possible Answers :
5 to 5.002

Question Number : 72 Question Id : 40503611902 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

x FAMH (1+x+22+ 250 F THR H 4
TR |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range
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Question Number : 73 Question Id : 40503611903 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

If the lines x + y=a and x— y=>b touch the
curve L.rz_’r2 —3x + 2 at the points where the
a

curve intersects the x-axis, then 1— is equal
&1

to
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Question Number : 74 Question Id : 40503611904 Question Type : SA Display Question Number : Yes

Correct Marks : 4 Wrong Marks : 0

Let the vectors a, b, ¢ be such that

—
C

|;‘=2f ; =4 and =4 I[f the

— —

projection of b on a is equal to the

projection of ¢ on a and b is

—_—

perpendicular to ¢ , then the value of

— — —

a + b c| is _
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Question Number : 75 Question Id : 40503611905 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

In a bombing attack, there is 50% chance
that a bomb will hit the target. Atleasttwo
independent hits are required to destroy
the target completely. Then the minimum
number of bombs, that must be dropped to
ensure that there is at least 99% chance of

completely destroying the target, is
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